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Chapter 13 Ethers & Epoxides Part 2 — Practice Problems JE'h;'-;;,. 1%

Predict the major product, and draw the mechanism.
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Predict the major product, and draw the mechanism.
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Predict the major product, and describe the mechanism.
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A) Protonate, attack, deprotonate
B) Protonate, attack

C) Deprotonate, attack

D) Deprotonate, attack, protonate
E) Attack, protonate



4 | Predict the major product.

1) CH3;COzH
\/\\\(\ ) CH; Y
2) H;0"

Ph

5|/ 6

Predict the major produets, and draw a mechanism.
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Which reagents would be best to achieve the following synthesis?

Br OH
F‘h/\/ _ Ph/\/\/

Predict the major products.
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Predict the major product, and select the correct mechanism step.

)]
v CH3;ONa
e
CH:;OH
: Meo, QH A
A) \ ey
Mag:@
®__H
MEQ{P OH“ CD )
B) e
d Meg:e @
Ho ~ ©OMe o
= ..-'\"\ @'-
0 " :OMe
®_ H
o, Qe 5 &
D) > :OMe

Predict the major product, and select the correct mechanism step.
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Predict the major product, and select the correct mechanism step.
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Predict the major product.
\/,\\\l/\ 1) CHyCOH _
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+ enantiomer + enantiomer
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+ enantiomer + enantiomer



Predict the major products of the following reaction.
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Which of the following is a correct mechanism step for the given reaction?

7(0\/ xs HBr
A) H B) ) H
(0@ Co 0@
" X O
D) E)y X



Which reagents would be best to achieve the following synthesis?

Br OH
ph/\/ —_— ph/\\/\/’
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Which of the following are the major products of
the reaction shown?
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